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3agaum AJ1sl CaMOCTOSITEJILHOTO pEeUICHUA

HaiiTu HeonpenenéHHbIE HHTETPaIBI:

1. Ix\/x—de. OrBer: %(x—2)%+§(x—2)%+c (xZZ).

2. sz A= xdx . OTBCTI—3(%[4 —%t7 +%tloj+C,met:3\/1—x.

3. jJ;ﬂdx Orser: %,/(x+4)3 —8Jx+4+C (x>-4).

4. J‘(:;_.:[ﬁ Orser: —\/Earctgw’l_Tx+C (x<1).

Vx+1+2 (-1 2 2t +1
5. dx . Otsert: | ——arctg———+C,
I(x+1)2—m TBET nt2+t+1 ﬁarcg \/5 +

rae t =+/x+1 (x>—1;x¢0).

6 dx

(2x + 1)% —(2x+ 1)% |

Ortser: %(2x+1)§ +3(2x+1)% + 31n(2x+1)% ~-1+C (x>—%; xiOJ-

dx .

7I P2x-1+1

2x W/2x - )
Orser: 31n]‘</2x— —1‘—3ln6«/2x—1+C(x>%;x¢l].

I3 x+1++/x+1

(x+1)(4—ﬁ)

Orser: —6t—31n\4—z2\—61n

dx .

g+c,rﬂet=6\/x+l (x>—1;x¢63).

t+2
9. Hi_—xdx. Orser: arcsinx +v1-x* +C (-1<x<1).
+x
0 I3 x+1 Omser llnt2+t+1+ 2 arctg2t+1+ 2t
. . BeT: —IN————+ — —_—t =,
35 (t-1¥ B N
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rae t:3’x+l (x¢ 1).
x—1

dx (xe(-23)).

11'[

|
OrserT: \/x2 6+%lnx—%+\/x2—x—6‘+3\/x2—x—6+C.
/x+l 1, 2 +t+1 2t +1
12. 0 :—ln—+«/§ ct +C,
I 1 il TBET 5 (t—1)2 arctg «/5
rz[et=31’x+l (xiil).
x—1
13. dx . OTBCTlel’lt el «/grtgzt+l+c,
Y(x—1)x+1)° 2 (-1 V3

rae t=31/x+1 (x;ti'l).
x—1

dx 4 ’x—l
14. ) Orer: —4 +C (XE[—z,l]).
Ii/(x—1)3(x+2)5 3Vx+2
IS.J dx . OTBeT2—§31/x+1+C (x;til).
Ye+1) (x-1)* 2Vx-1

6 J dx
. x(1+2\/;+3\/;).
Orger: — xx 3 44x -1 +C (x > 0).

In - !
CARTI-GR) 2T
J‘\/% OTBeT: ln}x+1+M‘+C (XE[_ 2’01)'
X +4x

dx
18. |————. OtBeT: — ‘x 1+vVx?=2x+3 ‘+C.
‘[\/3x2—6x+9 ﬁ

Ortser: Larcsin XT-i-l +C (x € (— 3,1)).

19. IL. :
J6—dx—2x2 V2

17.
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20.

21.

22

23

24

25

26.

27.

J

J

Vxl+x+2

S5x+3

V=x’+4x+5

Oteer: —5vV— x> +4x+ 5 +13arcsin

3x+2 dr

OrTBeT:

dx .

x—2

+C (xe(-1,5)).

OtseT: 3\/x2+x+2+%lnx+%+x/x2 +x+2|+C.
. Isz +4x+13dx .

X
OTtBeT:

) Jxx/l—xzdx.

. J(1—3x 1+ x—x2dx (l_zﬁgxg“"/g].

3

;2\/x2 +4x+13 +%ln|x+2|+\/x2 +4x+13+C.
. J\/5+4x—x2dx.

2\/5+4x—x2 +%arcsinx;2+C(xe(—l,5)).

3

Ortser: —%(I—x2 )5 +C (M < 1).

2

Orser: (1+x—x2)5 _%(x_%]m_ %arcsin2x—l+C.

J

+31n
2

2
x dx

\/x2+x+1'

OTBeT:

OT

2x -3

Js

I(x+l x> +4x+1dx.

3

BET: %(xz +4x+1)E - %(x+2}\/x2 +4x+1+

x+ 243 +ax 1]+ C re(-2-V3,2+43)

Vx? +x+l—%ln(%+x+\/x2 +x+1J+C.
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dx
28. .
va 2x? =2x-1

Oreer: — arcsin

x+1 1-43 1+43
x\/§+C(XE|iT, > iU

X
29. OtBer: 1’— +C (x¢|-2,0]).
'[x+2Nx +2x x+2 ( [ ])

30. I . OTBeT:—1n|1 X+ 20x" +x+1 | x;t—l).
x+1}\/x +x+1 ‘ x+1 ’
31. .
'[ - \/x +x+1
OTBCTZ—LM'i' ! ln| ! +l+ x2+x+1|+c (x#l).
(x-1) 243 ‘x—l 2 V3(x-1) |
32. JL OTBeT:— —l L+yx +1 +C (x#O).
Ax?+1 |x|

dx _2x +1 5
33. IT OtBeT: 3x3 x°=-1+C (IX|>1)

x> +2x+3 e

V=x* +4x
OrtBeT: —(§+5)\/—x2 +4x +13arcsin x-2

I\/xz +2x+2

X

+C (xe(0,4)).

dx .

Otser: VX% +2x+2 +ln(x+1+\/x2+2x+2)
_\/—ln|x+2+\/2ix +2x+2i|
|

| x¢0

35.
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xdx
36. Im (x € (1 —\/5,1 +\/§))

2 Ju—
OTBeT: —19;52+—2)C—\/1+2x—x2 — 4 arcsin lﬁx+

37. I 1{/1_3;/;6156 OrBeT: 2\[(1+3\/;)3 +C (xZ—l;x;tO).

C.

(x = -1;0).

38 J‘L
x-Al+x°

2
Orger: Lan_—D+£arctg 2041 +C,re t=1+x".

10 £2+t+1 5 V3
dx 3
9. |——- Otset: — +C (x>0).
k (14 x ) e et 0
40. e dx3 =\ Ortser: 3arctgi/;+c (x;tO),
x \I+4/x
dx 1 4
41, |————. OtseT: — + +C (x>0).
T ] o]
dx (262 —1N1+x?
42. j‘ﬁ OrtBeT: 3x3 +C (x;tO).

/ 3
43. I OTBeTIlln 1+x3 -1 +C (x>—1;x¢0).
X
x 1+x
44 J”x+ X
I+ x-

OTBeT: %(xz —xyx* -1 +ln‘x+\/x2 —1D+C (xZ 1).

2 2
45, I\/1+x +\/1—x i
VI=x*

OreeT: arcsinx + ln(x +41+x? )+ C (|x| < 1).
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xdx
46. Im+m (x>-2).

Ortser: —%(x+2)% +§(x+2)% + %(x+3)§ —2(x+3)% +C.

x dx

e para e reltoBards) one
SRR R T U N RS PR Tt I8
NI A (RS NN N v

dx
48. j(—4—2

OrtserT:

47.

arcsin ——

1 ‘\/1+x +x\/—|
o et

(x + l)dx Orger:

2(x
v J‘(x2+x+1Nx2+x+l. 3WxP 4 x ]

xdx 1-4/5 1445 |
50. . —11-
e e 55 e
I 1, pr+1-2d—x—1
Orser: arcsm —In +C
p_|J‘ 2 x+1 ‘

51,

dx
J‘)c+\/x2+x+1.
4
OtBeT: 3 +lln ! 3+C,met=x+\/x2+x+l (x;t—l).

2020+1) 2 or+1]

52. J‘1+\/1Td;m (xe[—l—«/i,—l%—\/i]).

Ortser: In

1++/1-2x—x?

X

t—1
——‘—2arctgt+c, roe t =
t
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(xe(-1,2)x=-2).

53 I dx
. x—x’—x-2
OrBer: )c—2ln|)c+2|+\/)c2 —-x—2- %ln

x—%+\/x2 —x—2‘—

1—§+ L ___° +1I+C
x+2 8 \(x+2) 4(x+2) 4]

dx
s4. | i) (x ¢ (-1,0)).

OTBeT: 5(21(3;_42) 5\/_ |ﬁ+i+§t}+c,met=—x+1/xi1+x;.

x*=5x +6x— 7
55.[

Nx?+2x+3
OrtBerT: (%ﬁ —%xz +%x+6)\1x2 +2x+3 - %ln|x+l|+

+X2 +2x+3+C (x=-1).

—2In




